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AN fij H PR RS UL tHasEhRe N E)
kil [ 5 Al AN AR EE AR ONET A RSO
B 44, 066 108, 483] 53,303] 55, 180 -40] -79 5 79 74 -84]  404] 488 0 128 128
AH—TH 653 1,452 705 747 -3 -5 0 0 0 -2 2 4 -3 4 7
S — T H 493 1,299 642 657 -3 -3 -2 0 2 -3 0 3 2 3 1
HIL=TH 441 1,023 494 529 -3 -10 0 0 0 —7 0 7 -3 0 3
FLIAED 1,587 3,774] 1,841 1,933 9] -18 -2 0 oA -12 2 14 —/ 7 11
s an—T1H 463 1,072 498 574 -2 -2 1 1 0 —4 2 6 1 1 0
Heorn _TH 736 1,914 928 986 -1 0 -1 1 2 -1 1 2 2 3 1
o —TH 4551 1,143 558 585 -2 —6 0 0 0 -1 0 1 -5 0 5
g AN T H 393 992 492 500 -1 -5 0 0 0 —4 5 9 -1 0 1
e w1 H 538[ 1,301 636 665 1 -5 -2 0 2 —4 3 7 1 2 1
e BN TH 213 488 235 253 0 -1 -1 0 1 0 0 0 0 0 0
s ntTH 649 1,660 829 831 -5 -11 —4 0 4 -2 4 6 -5 0 5
g\ TH 393 869 420 449 1 1 0 0 0 0 2 2 1 1 0
7 I 575 1,450 745 705 -3 —4 0 0 0 —4 5 9 0 1 1
i S 4,415 10,889] 5,341] 5,548 -12] -33 ~7 2 9  -20 22 42 —6 8 14
Hik R — 1 H 330 843 424 419 3 4 0 0 0 1 3 2 3 8 5
Wk T H 917l 2,147] 1,069 1,078 2 8 -2 0 2 5 10 5 5 5 0
6 = 644f 1,564 774 790 -3 —4 -1 0 1 -2 1 -1 0 1
Wk BaE 1,891f| 4,554 2 267 2, 6287 2 8 -3 0 3 4 14 10 7 13 6
sk R —1H 519 1,247 616 631 -5 -7 0 0 0 ~7 2 9 0 0 0
S T H 323 796 430 366 -2 -7 -2 1 3 -6 0 6 1 1 0
2 = 243 561 293 268 -2 0 1 1 0 -2 1 3 1 1 0
E2F N 514 1,251 643 608 0 3 3 0 0 4 4 0 0 0
E2f e 1,599 3,855 1,982 1,873 -9  -11 2 5 3| -15 7 22 2 2 0
15 #p57) 332 992 450 542 0 5 -2 0 2 4 4 0 3 4 1
HOEE ) — T H 155 395 199 196 4 8 1 1 0 1 1 0 6 6 0
HOEER) T H 431 1,027 509 518 1 3 0 2 2 -2 2 4 5 7 2
HOEE) =T H 652 1,690 837 853 -1 -3 0 1 1 -3 2 5 0 0 0
HOEEHAIY T H 653 1,743 864 879 -5 —4 2 3 1 —4 0 4 -2 0 2
HOEE) ] H 384 927 466 461 -1 -2 0 0 0 -2 0 2 0 0 0
HOEEI ST H 391 993 486 507 1 0 0 0 0 2 3 1 -2 0 2
HOEEH LT H 611 1,489 731 758 1 -1 -1 0 1 -1 8 9 1 1 0
HOEEH) G EE 3,277 8,264 4,092 4,172 0 1 2 7 5 -9 16 25 8 14 6
(LN 1,483 3,203 1,525 1,678 1 -7 -2 3 5 -1 7 8 -3 3 6
FSIAR 309 724 362 362 3 4 0 1 1 3 4 1 1 1 0
A ge— " H 451 1,036 496 540 0 —4 -1 0 1 0 7 7 -3 0 3
AT H 216 483 245 238 -2 —4 -1 1 2 -3 1 4 0 0 0
A= H 506 1,218 607 611 3 2 3 3 0 0 3 3 -1 1 2
THE) gLy T 533 1,134 567 567 -5 -5 0 0 0 -2 3 5 -3 0 3
iEE aﬂﬂlﬂﬂ%ﬁTH 206 553 276 277 1 4 2 2 0 3 3 0 -1 0 1
WP SEk 1 919 4,424 2,191 2,233 -3 —7 3 6 3 -2 17 19 -8 1 9
EET JARIT—T H 5971 1,329 621 708 0 4 2 2 0 —4 7 11 6 7 1
HEARET — T H 586) 1,348 630 718 2 9 0 0 0 7 9 2 2 3 1
TEESOARTSEF | 1,183 2 677| 1,251 1,426 2 13 2 2 0 3 16 13 8 10 2
IR 280 887 464 423 —4 —4 0 0 0 —4 0 0 0 0
HHR—TH 621 1,585 786 799 -3 -3 0 1 1 —4 1 1 1 0
R —TH 1,462 3,589 1,747 1,842 -2 9 4 6 2 1 24 23 4 7 3
HHR=TH 832l 2,282 1,146 1,136 —6 —6 0 1 1 -3 7 10 -3 0 3
HHRIUT H 461 1,134 542 592 0 -2 0 0 0 0 2 2 -2 0 2
e NN 3,376/l 8,590] 4,221 4,369 -11 -2 4 8 4 —6 34 40 0 8 8
JeHR—TH 610[ 1,480 736 744 5 12 1 1 0 6 9 3 5 5 0
AR _TH 795 2,103] 1,046] 1,057 4] 10 -1 1 2 —4 1 5 -5 1 6
JEHIR="TH 407 958 496 462 1 3 1 1 0 2 5 3 0 0 0
LR EED 1,812 4,541 2,278 2, 263 2 5 1 3 2 4 15 11 0 6 6
HRCRTHT 310 828 396 432 -1 -5 0 0 0 -5 6 0 0 0
Y& 1,473 4,880 2,242 2 638 -5 12 -1 3 4 -13 19 2 3 1
P 716 1,895 952 943 -3 0 2 4 2 -6 8 4 4 0
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iy TS 5 (sl Ao | [ AR ] e U | imA [ dsE | AEF ] (B [ (—)
FYE T H 687 1,862 934 928 2 9 2 3 1 3 6 3 4 4 0
FAE =T H 586( 1,494 743 751 2 3 2 2 0 2 6 4 -1 2 3
FAAIEM T H 888l 2,305 1,126 1,179 0 -7 0 2 3 —4 3 7 -2 0 2
A E T H 5471 1,334 658 676 0 -2 -1 0 1 1 3 2 -2 0 2
FRIE ST H 4201 1,082 527 555 1 1 0 1 1 3 4 1 -2 1 3
FIf) B A 3,844/ 9,972 4,940] 5,032 2 4 4 12 8 -1 24 25 1 11 10
R 489 1, 143 545 598 1 -11 —4 0 4 1 3 -9 2 11
e —T1"H 300 632 310 322 -2 -3 0 0 0 -2 0 -1 0 1
e — T H 546| 1,312 648 664 -2 -10 -3 0 3 -3 5 —4 0 4
R EN 846 1,944 958 986 -4 -13 -3 0 3 -5 5 10 -5 0 5
BEli— T H 295 655 334 321 2 1 -1 0 1 3 70 67 -1 0 1
= T H 621 1,316 658 658 -5 0 2 2 —4 0 4 0 0 0
=T H 352 972 487 485 1 1 1 0 0 2 2 0 0 0
e Er 1,268 2,943 1,479| 1,464 3 -3 0 3 3 -1 72 73 -1 0 1
A E—TH 412 987 478 509 -3 -5 0 0 0 -1 1 2 —4 0 4
WHE T H 402 1,075 528 547 3 11 0 1 1 5 11 6 6 6 0
s =T H 724 1,879 925 954 3 10 1 1 0 6 8 2 3 5 2
HEMNT H 438[l 1,067 513 554 -3 -2 0 0 0 -2 1 3 0 0 0
HHIE T H 742 1,757 865 892 2 3 -1 0 1 2 3 1 1 2 1
HHIESNTH 214 476 237 239 1 0 0 0 -1 0 1 3 3 0
T EAE 2,932 7,241| 3,546] 3,695 3 19 0 2 2 9 24 15 9 16 7
<HXL—TH 621 1,509 743 766 -1 -7 -2 1 3 2 10 8 -7 0 7
<X TH 632 1,520 745 775 —4|  -16 1 1 of -11 20 -6 0 6
<HXL=TH 496 1,177 600 577 -2 -2 -1 1 2 -1 3 0 0 0
<HIWMYTH 503 1,113 553 560 -6 -8 1 1 0 -9 11 0 0 0
<HXHTH 382 907 494 413 3 5 1 1 0 5 1 -1 0 1
<BXEE 2,634 6,226] 3,135| 3,091 -10]  -28 0 5 5l -14 29 431 -14 0 14
W E AR —T H 7520 1,704 836 868 3 10 1 1 0 12 14 2 -3 1 4
M EART T H 409 1,086 547 539 4 1 1 0 3 4 1 0 1 1
W E AR A 5L 1,161l 2,790 1,383 1,407 7 14 2 2 0 15 18 3 -3 2 5
P& 436 869 430 439 6]  -14 0 0 of -16 5 21 2 3 1
ok — 1 H 782 1,381 635 746 2 1 0 0 0 3 15 12 -2 0 2
ok A 1 H 354 584 281 303 3 5 2 2 0 0 5 5 3 4 1
ok A =1 H 587|1 1,594 734 860 4 11 5 5 0 6 7 1 0 0 0
ks AN T H 272 639 305 334 0 0 2 2 0 -3 6 9 1 1 0
I A 1,995 4,198] 1,955 2 243 9 19 9 9 0 8 33 25 2 5 3
FRIREET 23 59 32 27 0 0 0 0 0 0 0 0 0 0 0
iy 7371 1,960 928 1,032 -1 1 -2 0 2 —4 6 10 7 7 0
AL 253 579 287 292 0 -1 0 1 1 -1 1 2 0 0 0
HR e — T 338 929 483 446 -1 2 2 0 0 0 0 0 0 0
H ] T H 271 703 344 359 1 1 1 0 -1 2 3 2 2 0
BRI 609 1,632 827 805 0 3 3 0 -1 2 3 2 2 0
PafE R — T H 627 1,396 716 680 1 —4 1 1 0 -5 6 11 0 0 0
FEfEEER T H 475 1,215 586 629 2 1 -3 0 3 5 10 5 -1 0 1
(A Ny 1,102 2,611 1,302 1,309 3 -3 -2 1 3 0 16 16 -1 0 1
P 1 EE [ 263 631 324 307 -2 -1 1 1 0 -2 0 0 0 0
IR 235 603 329 274 -1 -1 0 0 0 -1 1 0 0 0




